j&-o(‘ttj ﬁe /'«a_,n)r — 464 - j)u/

(V‘U*‘"Z"

&

6((&(-“& l P D

is :/ju,) {J 2) B :(7r+x)/7nx)

= 45 -x=

= “jz’é

< = (J«f-le.)(losz)- );—(4429/‘{-.7_);)
= ((01+3)((01’3) = fé,——é)tl—

A

= lGoxT9
£= (Gy=s) (&5 Ty -1) (3544
= zéj’——ar . ééj&—/

EXCcc"LA i p lo

4/ ,{Zn4—5)/2n—5): 4ﬂz-—27'

A) 205 x |3c = (bor:)(&oo—g) ,

= (Lx(oo fr) (zx(Oc\ os)

= 4)((00&’&*/.

- Yo00b U =393F1T

gx&cufp&)
o{) 4,——)6)(2,;9.———¢ f~-f';7/"> 'F.):‘?:é?jfﬁﬁ{s =—(s

L) W — Uy — L — (2)"’}&/_} (b«()L”(é



Fe . D

fre (bues)” 8- (42 48) (4 -3)

= lénl'f 2% n+ 38 :((nz——({

: &
SR ~3)
= Bé.kz “Béx 49



